- 1L 2 B 2} >\ =
F o HF L7
ANJUN Technology Co., LTD
FEFIRAT AR &R = 2738 10-050

TEL: 03-4693098
E-Mail: sale@anjun. com. tw service@an jun. com. tw

FAX: 03-469-3258

Core 2.0 PRODUCT SHIPPING PACKING LIST

#=x | Als PN (P 2) = r(®E=2) BE | mER | HA
1 PA407 EFIRIEE/IRIEMEZ  Laser Galvanometer Seat 1
2 PA701 ) & A Photoelectric Switch 1
3 PA702 IR Motherboard 1
4  PA703 Z T &R Multi P.S. 1
5 PA704 +15V dcEJR +15V dc Power Supply 1
6 PA705 DC24VE R DC 24V Power Supply 1
7  PA914-2 BT Power Line 1
8 PA709 B iR ml X Galvanometer Control PC X 1
9 PA710 EiR sty Galvanometer Control PCY 1
10 PA712 EEAH Screen 1
11 PA713 %Eh#A Switch 1
12 PA714 S AEREE Laser Adjust Resistor 1
13 PA715 5 = e i Adjust Knob 1
14 PA716 R ELE MR Adjustments Panel 1
15 PA901 BEAR Screen Line 1
16 PA902 RIEAR Calibration Line 1
17  PA903 EiFR Pause Line 1
18 PA904 HER Photoelectric Switch Line 1
19  PA905 FREIRLER Multi Power Line 1
20 PA908 EiRIRAR Galvanometer Signal Line 2
21 PA910 DC+15V EIRAR DC +15V/+24V Power Line 2
22  PA911 EIRIEHIFH IR AR Galvanometer Control Signal Line 2
23 PA913 DC 24V B4R DC 24V Link Line 1
24  PA820 M3 21§ M3 Nut 4
25 PAS829 [EFE+FEEEIE4% M3*6 M3*6 Nylon Phillips Screws 4
26 PA831 BENAMRBEME M3*30  M3*30 Multi P.S. 4
27  MS001 B &Y Laser 1

¢ . QC:
2 I p#F:




